[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 NS: @30F ZI3c#z(GH0) 10 10 NS: R25hZ REF(BAC) 10 VP:| 12.77 . 7.23 Total VP: 85.23 Rank:
EW: BEEISZ FREIEAC) -10 EW: 22510 BRiEAH(BRO) -1 IMP:| 22 15 7
I . — —
#9 aT3 3CW-1100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 3SE3 -140 Mean: 4SE-2 200 8.0 1
v QT542 2SS-2-100 20 4CW-2 200 50 2 v 983 3HS-1-100 -120 3NE-2 200 80 1
732 Dif: 200 NS:2  3NXE-1 200 50 1 ¢ T8643 Dif: -40 NS:-1 4SE-1 100 60 1
» 632 IMP: 5 EW:3 2SS2 110 3.0 1 » KQ5 IMP: -1 EW:-1 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 6CXS-3 -500 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE-150 Mean: 6CE-1 50 110 2
v Q62 3NN4 430 140  3NN5 460 80 1 v 85 3NW5 -460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -930 NS:-12 3NS4 430 70 1 + QT8 Dif: 510 NS:11 4NW5 460 1.0 1
& K5 IMP: -14 EW:-7 3NN4 430 7.0 1 & A96 IMP: 11 EW:-1  3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXE-2 300 Mean: 5HXW-2 300 40 4
v Q2 3NE5 -660 -530  3HW3 140 9.0 1 v?9 5HXW-2 300 140  5HXE-2 300 4.0 4
¢ T987 Dif: 30 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 0 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: 1 EW:4 5DE5 600 -20 1 » T632 IMP: 0 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SW6 -480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 -650 -530  3SW5 200 80 1 v 62 4SN4 420 150  4SS4 420 7.0 1
¢ T32 Dif: 170 NS:2 3SW6 230 70 1 *2 Dif: 0 NS:7 4SN5 450 7.0 1
& 7654 IMP: 5 EW:3 4SW6 480 2.0 3 & KT832 IMP: 0 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 58XW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

2 NS: Z$EE EHFI(BEO) 8 1 2 NS: #B{E3E HFER(EIC) -111 VP:| 15.23 : 4.77 Total VP: 95.41 Rank:
EW: B BUE S5 EEEIC) 10 EW: ZZ5Ei8 £I3%7K(BAO) -8| IMP:| 32 17 5
I - — —
#9 aT3 3NE-3 300 Mean: 3NE-3 300 7.0 1 [[#10 s T6 2SE4 -170 Mean: 4SE-2 200 8.0 1
v QT542 4CW-2200 20  4CW-2 200 50 2 v 983 3SE3 -140 -120 3NE-2 200 8.0 1
732 Dif: 100 NS:7  3NXE-1 200 50 1 ¢ T8643 Dif: -30 NS:-2 4SE-1 100 60 1
» 632 IMP: 3 EW:-5 2SS2 110 3.0 1 » KQ5 IMP: -1 EW:1 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 3NN5 460 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE6 -920 Mean: 6CE-1 50 110 2
v Q62 5CS-1-50 140  3NN5 460 80 1 v 85 3NW5 -460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 510 NS:8 3NS4 430 70 1 + QT8 Dif: -460 NS:-9 4NW5 460 1.0 1
& K5 IMP: 11 EW:5 3NN4 430 7.0 1 & A96 IMP: -10 EW:-1 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 5DE5 -600 Mean: 6NE-2 200 120 1 ||# 14 s QT2 4HE-1 50 Mean: 5HXW-2 300 40 4
v Q2 3NE4 -630 -530 3HW3 140 9.0 1 v?9 5HXE-2 300 140  5HXE-2 300 4.0 4
¢ T987 Dif: 30 NS:-2 1DN-5 500 1.0 1 ¢ JT953 Dif: -250 NS:-3 4HE-1 50 3.0 4
» AJ6 IMP: 1 EW:3 5DE5 600 -20 1 » T632 IMP: -6 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 ¢ 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SW6 -480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW6 -750 -530 3SW5 200 80 1 v 62 5CN-1-50 150  4SS4 420 7.0 1
¢ T32 Dif: 270 NS:2 3SW6 230 70 1 *2 Dif: 470 NS:7 4SN5 450 7.0 1
& 7654 IMP: 7 EW:6 4SW6 480 2.0 3 & KT832 IMP: 10 EW:5 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

3 NS: #RFIR 8% GHO) 22 1 3 NS: Rt ZFHRZ(BAC) -3 VP:| 16.46 : 3.54 Total VP: 103.22 Rank:
EW: HhELNE TRIEREAC) 3 EW: #5518 S15E(BAO) -2 IMP:| 33 13 4
I . —
#9 aT3 4CW-2 200 Mean: 3NE-3 300 7.0 1 [[#10 s T6 2HS2 110 Mean: 4SE-2 200 8.0 1
v QT542 3NE4 -630 20  4CW-2 200 50 2 v 983 3NE-2200 -120  3NE-2 200 8.0 1
732 Dif: 830 NS:5 3NXE-1 200 50 1 ¢ T8643 Dif: -90 NS:6 4SE-1 100 60 1
» 632 IMP: 13 EW:12 2SS2 110 3.0 1 » KQ5 IMP: -3 EW:-8 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS5400 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 3NW5 -460 Mean: 6CE-1 50 110 2
v Q62 3NN-1-50 140  3NN5 460 80 1 v 85 4NWS5 -460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 450 NS:6 3NS4 430 70 1 + QT8 Dif: 0 NS:1 4NW5 460 1.0 1
& K5 IMP: 10 EW:5 3NN4 430 7.0 1 & A96 IMP: 0 EW:-1 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXW-2 300 Mean: 5HXW-2 300 40 4
v Q2 3NE4 -630 -530 3HW3 140 9.0 1 v?9 5HXW-2 300 140  5HXE-2 300 4.0 4
¢ T987 Dif: 0 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 0 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: 0 EW:3 5DE5 600 -20 1 » T632 IMP: 0 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5HN-2 -200 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN-1-50 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 -650 -530  3SW5 200 80 1 v 62 4S5S4 420 150  4SS4 420 7.0 1
¢ T32 Dif: 450 NS:8 3SW6 230 70 1 *2 Dif: -470 NS:-5 4SN5 450 7.0 1
& 7654 IMP: 10 EW:3 4SW6 480 2.0 3 & KT832 IMP: -10 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

4 NS: £Z#5% EEGGE0) 7 8 NS: HBEE £RA(BAC) 9 VP:| 9.14 10.86 | Total VP: 70.65 Rank:
EW: &L BEBEEAC) -9 EW: #iliE FRIE£E(BRO) -7 IMP:| 36 38 12
I — —
#9 aT3 2SS-1-50 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE4 -620 Mean: 4SE-2 200 8.0 1
v QT542 3NE-1100 20 4CW-2 200 50 2 v 983 4SE-2 200 -120  3NE-2 200 80 1
732 Dif: -150 NS:-2 3NXE-1 200 50 1 ¢ T8643 Dif: -820 NS:-11 4SE-1 100 60 1
» 632 IMP: -4 EW:2 2SS2 110 3.0 1 » KQ5 IMP: -13 EW:-8 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CXS5 550 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 5CE6 -420 Mean: 6CE-1 50 110 2
v Q62 5CS5400 140  3NN5 460 80 1 v 85 6CE6 -920 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 150 NS:9 3NS4 430 70 1 + QT8 Dif: 500 NS:2 4NW5 460 1.0 1
& K5 IMP: 4 EW:-6 3NN4 430 7.0 1 & A96 IMP: 11 EW:9 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 1DN-5 -500 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXW-2 300 Mean: 5HXW-2 300 40 4
v Q2 6NE-2 200 -530 3HW3 140 9.0 1 v?9 4HE-150 140  5HXE-2 300 4.0 4
¢ T987 Dif: -700 NS:1 1DN-5 500 1.0 1 ¢ JT953 Dif: 250 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: -12 EW:-12 5DE5 600 -20 1 » T632 IMP: 6 EW:3 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢V AN 4 AKJE3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5SXWS5 -650 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 420 Mean: 5CXS5 550 9.0 1
v KJT876 3SW6 -230 -530  3SW5 200 80 1 v 62 5HXWS5 -850 150  4SS4 420 7.0 1
¢ T32 Dif: -420 NS:-3 3SW6 230 70 1 *2 Dif: 1270 NS:7 4SN5 450 7.0 1
& 7654 IMP: -9 EW:-7 4SW6 480 2.0 3 & KT832 IMP: 15 EW:14 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

5 NS: 12 £ ZFEEIREH0) 24 14 NS: 5H#E BRERZ(BAC) -26 VP:| 20.00 : 0.00 | Total VP: 82.02 Rank:
EW: PR =EHEEAC) 26 EW: [RER BEEEN(BAO) -2 IMP:| 46 : 0 9
I . — —
#9 aT3 3CW-1100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE-1 100 Mean: 4SE-2 200 8.0 1
v QT542 25S-2-100 20  4CW-2 200 50 2 v 983 4SE4 -620 120  3NE-2 200 8.0 1
732 Dif: 200 NS:2  3NXE-1 200 50 1 ¢ T8643 Dif: 720 NS:6  4SE-1 100 60 1
» 632 IMP: 5 EW:3 2SS2 110 3.0 1 » KQ5 IMP: 12 EW:11 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS-1-50 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE-150 Mean: 6CE-1 50 110 2
v Q62 6HXS-1-100 140  3NN5 460 80 1 v 85 3NE6 -490 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 50 NS:-5 3NS4 430 70 1 + QT8 Dif: 540 NS:11 4NW5 460 1.0 1
& K5 IMP: 2 EW:6 3NN4 430 7.0 1 & A96 IMP: 11 EW:0 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXE-2 300 Mean: 5HXW-2 300 40 4
v Q2 1NXN-3 -800 -530 3HW3 140 9.0 1 v?9 4HE-150 140  5HXE-2 300 4.0 4
¢ T987 Dif: 170 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 250 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: 5 EW:7 5DE5 600 -20 1 » T632 IMP: 6 EW:3 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 98 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
#15 'y 4SW6 -480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXWS5 -650 -530 3SW5 200 80 1 v 62 4SN4 420 150  4Ss4 420 7.0 1
¢ T32 Dif: 170 NS:2 3SW6 230 70 1 *2 Dif: 0 NS:7 4SN5 450 7.0 1
& 7654 IMP: 5 EW:3 4SW6 480 2.0 3 & KT832 IMP: 0 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

6 NS: SHEHH BRIEHT(BHO) -9 7 NS: Rt BRHEE(BAC) -1 VP:| 7.95 12.05| Total VP: 65.19 Rank:
EW: B8 = xiEEAC) 1 EW: ZE{_ FRE#E(BO) 9 IMP:| 33 38 13
I - — —
#9 aT3 3NXE-1 200 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE4 -620 Mean: 4SE-2 200 8.0 1
v QT542 2SS-1-50 20  4CW-2 200 50 2 v 983 2HN2 110 -120 3NE-2 200 8.0 1
732 Dif: 250 NS:5 3NXE-1 200 50 1 ¢ T8643 Dif: -730 NS:-11 4SE-1 100 60 1
» 632 IMP: 6 EW:2 2SS2 110 3.0 1 » KQ5 IMP: -12 EW:-6 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS-1-50 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 3NW6 -490 Mean: 6CE-1 50 110 2
v Q62 3NS4430 140  3NN5 460 80 1 v 85 4SXE5 -690 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -480 NS:-5 3NS4 430 70 1 + QT8 Dif: 200 NS:0 4NW5 460 1.0 1
& K5 IMP: -10 EW:-7 3NN4 430 7.0 1 & A96 IMP: 5 EW:5 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3HW3 -140 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5DXN-2 -300 Mean: 5HXW-2 300 40 4
v Q2 3NE3 -600 -530 3HW3 140 9.0 1 v?9 5HXE-2 300 140  5HXE-2 300 4.0 4
¢ T987 Dif: 460 NS:9 1DN-5 500 1.0 1 ¢ JT953 Dif: -600 NS:-10 4HE-1 50 3.0 4
» AJ6 IMP: 10 EW:2 5DE5 600 -20 1 » T632 IMP: -12 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 4SXW6 -790 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 5CXS5 550 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 -650 -530 3SW5 200 80 1 v 62 6SS-2-100 150  4SS4 420 7.0 1
¢ T32 Dif: -140 NS:-6 3SW6 230 70 1 *2 Dif: 650 NS:9 4SN5 450 7.0 1
& 7654 IMP: -4 EW:3 4SW6 480 2.0 3 & KT832 IMP: 12 EW:6 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
* VAN ,98 * VAN 4 AT2 5DXW5 750 140 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

7 NS: S pREEEAC) -1 6 NS: #iRRBA BRZEH(BRO) -9 VP:| 12.05 : 7.95 Total VP: 86.36 Rank:
EW: =& BEZREEEO) 9 EW: B335 &k1l(BAC) 1 IMP:| 38 33 6
I - — o
#9 aT3 3NXE-1-200 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE4 620 Mean: 4SE-2 200 8.0 1
v QT542 2SS-150 20  4CW-2 200 50 2 v 983 2HN2 -110 120  3NE-2 200 8.0 1
732 Dif: 250 NS:-2 3NXE-1 200 50 1 ¢ T8643 Dif: 730 NS:6  4SE-1 100 60 1
» 632 IMP: -6 EW:-5 2SS2 110 3.0 1 » KQ5 IMP: 12 EW:11 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS-150 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 3NW6 490 Mean: 6CE-1 50 110 2
v Q62 3NS4 -430 140  3NN5 460 80 1 v 85 4SXE5 690 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 480 NS:7 3NS4 430 70 1 + QT8 Dif: -200 NS:-5 4NW5 460 1.0 1
& K5 IMP: 10 EW:5 3NN4 430 7.0 1 & A96 IMP: -5 EW:0 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3HW3 140 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5DXN-2 300 Mean: 5HXW-2 300 40 4
v Q2 3NE3 600 -530 3HW3 140 9.0 1 v?9 5HXE-2 -300 140  5HXE-2 300 4.0 4
¢ T987 Dif: -460 NS:-2 1DN-5 500 1.0 1 ¢ JT953 Dif: 600 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: -10 EW:-9 5DE5 600 -20 1 » T632 IMP: 12 EW:10 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 4SXW6 790 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 5CXS5 -550 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 650 -530 3SW5 200 80 1 v 62 6SS-2100 150  4SS4 420 7.0 1
¢ T32 Dif: 140 NS:-3 3SW6 230 70 1 *2 Dif: -650 NS:-6 4SN5 450 7.0 1
& 7654 IMP: 4 EW:6 4SW6 480 2.0 3 & KT832 IMP: -12 EW:-9 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
* VAN ,98 * VAN 4 AT2 5DXW5 750 140 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

8 NS: & & HRREIC) 9 4 NS: E#HE X BB4(F0) 7 VP:| 10.86 : 9.14 | Total VP: 80.42 Rank:
EW: i3l BRE£E(FEO) -7 EW: HER BRER(BIC) -9 IMP:| 38 36 10
I — o
#9 aT3 2SS-150 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE4 620 Mean: 4SE-2 200 8.0 1
v QT542 3NE-1-100 20 4CW-2 200 50 2 v 983 4SE-2 -200 -120  3NE-2 200 80 1
732 Dif: 150 NS:2  3NXE-1 200 50 1 + 78643 Dif: 820 NS:8 4SE-1 100 60 1
» 632 IMP: 4 EW:2 2SS2 110 3.0 1 » KQ5 IMP: 13 EW:11 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 28S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *¢VAN 4, A03 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CXS5 -550 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 5CE6 420 Mean: 6CE-1 50 110 2
v Q62 5CS5-400 140  3NN5 460 80 1 v 85 6CE6 920 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -150 NS:6 3NS4 430 7.0 1 + QT8 Dif: -500 NS:-9 4NW5 460 1.0 1
& K5 IMP: -4 EW:-9 3NN4 430 7.0 1 & A96 IMP: -11 EW:-2 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 ‘:_‘ v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 5.0 3 ||e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 ||a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 1DN-5 500 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXW-2 -300 Mean: 5HXW-2 300 40 4
v Q2 6NE-2 -200 -530 3HW3 140 9.0 1 v?9 4HE-1-50 140  5HXE-2 300 4.0 4
¢ T987 Dif: 700 NS:12 1DN-5 500 1.0 1 o JT953 Dif: -250 NS:-3 4HE-1 50 3.0 4
» AJ6 IMP: 12 EW:-1 5DE5 600 -20 1 » T632 IMP: -6 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 7.0 1 % ¢V AN 4 AKJE3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5SXWS5 650 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 -420 Mean: 5CXS5 550 9.0 1
v KJT876 3SW6 230 -530 3SW5 200 80 1 v 62 5HXW5 850 150  4SS4 420 7.0 1
¢ T32 Dif: 420 NS:7 3SW6 230 70 1 *2 Dif: -1270 NS:-14 4SN5 450 7.0 1
& 7654 IMP: 9 EW:3 4SW6 480 2.0 3 & KT832 IMP: -15 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

9 NS: $I 72 BFEERSRGHO) -40 1 1 NS: BRZEE FIEB(BAC) 12 VP:| 0.00 20.00 | Total VP: 52.75 Rank:
EW: BEEIEE ¥sk=EAC) -12 EW: ER A2 STRM(BAO) 40 IMP:| 10 55 14
I — —
#9 aT3 2SS-2 -100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 3SE4 -170 Mean: 4SE-2 200 8.0 1
v QT542 2SS2110 20 4CW-2 200 50 2 v 983 2HS2 110 -120 3NE-2 200 80 1
732 Dif: 210 NS:-3  3NXE-1 200 50 1 ¢ T8643 Dif: -280 NS:-2 4SE-1 100 60 1
» 632 IMP: -5 EW:-3 2SS2 110 3.0 1 » KQ5 IMP: -7 EW:-6 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 3SXW-2 300 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CW6 -920 Mean: 6CE-1 50 110 2
v Q62 6CS-2-100 140  3NN5 460 80 1 v 85 4NW6 -490 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 400 NS:4 3NS4 430 70 1 + QT8 Dif: -430 NS:-9 4NW5 460 1.0 1
& K5 IMP: 9 EW:6 3NN4 430 7.0 1 & A96 IMP: -10 EW:0 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5DXN-2 -300 Mean: 5HXW-2 300 40 4
v Q2 5HW5 -650 -530  3HW3 140 9.0 1 v?9 4HE-150 140  5HXE-2 300 4.0 4
¢ T987 Dif: 20 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: -350 NS:-10 4HE-1 50 3.0 4
» AJ6 IMP: 1 EW:3 5DE5 600 -20 1 » T632 IMP: -8 EW:3 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢V AN 4 AKJE3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5SXWS5 -650 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 5DXWS5 -750 Mean: 5CXS5 550 9.0 1
v KJT876 3SW5-200 -530 3SW5 200 80 1 v 62 4SN5450 150  4SS4 420 7.0 1
¢ T32 Dif: -450 NS:-3 3SW6 230 70 1 *2 Dif: -1200 NS:-14 4SN5 450 7.0 1
& 7654 IMP: -10 EW:-8 4SW6 480 2.0 3 & KT832 IMP: -15 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 O NS: RiAM= BEZEEAC) 10 1 NS: E30&E 2I3X#:(F0) 10 VP:| 7.23 12.77| Total VP: 109.45 Rank:
EW: =885 BEEEN(BHO) -10 EW: FREISC E32E(BAC) 1 IMP:| 15 22 3
I — o
#9 aT3 3CW-1-100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 3SE3 140 Mean: 4SE-2 200 8.0 1
v QT542 2SS-2100 20  4CW-2 200 50 2 v 983 3HS-1100 -120  3NE-2 200 8.0 1
732 Dif: 200 NS:-3  3NXE-1 200 50 1 ¢ T8643 Dif: 40 NS:1 4SE-1 100 60 1
» 632 IMP: -5 EW:-2 2SS2 110 3.0 1 » KQ5 IMP: 1 EW:1 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 6CXS-3 500 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE-1-50 Mean: 6CE-1 50 110 2
v Q62 3NN4 -430 140  3NN5 460 80 1 v 85 3NW5 460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: 930 NS:7 3Ns4 430 70 1 + QT8 Dif: -510 NS:1  4NW5 460 1.0 1
& K5 IMP: 14 EW:12 3NN4 430 7.0 1 & A96 IMP: -11 EW:-11 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXE-2 -300 Mean: 5HXW-2 300 40 4
v Q2 3NE5 660 -530 3HW3 140 9.0 1 v?9 5HXW-2 -300 140  5HXE-2 300 4.0 4
¢ T987 Dif: -30 NS:-4 1DN-5 500 1.0 1 ¢ JT953 Dif: 0 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: -1 EW:3 5DE5 600 -20 1 » T632 IMP: 0 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NES 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 4SW6 480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 -420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 650 -530 3SW5 200 80 1 v 62 4SN4 -420 150  4SS4 420 7.0 1
¢ T32 Dif: -170 NS:-3 3SW6 230 70 1 *2 Dif: 0 NS:7 4SN5 450 7.0 1
& 7654 IMP: -5 EW:-2 4SW6 480 2.0 3 & KT832 IMP: 0 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
* VAN ,98 * VAN 4 AT2 5DXW5 750 140 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 1 NS: BRZEE #EEEAC) 12 9 NS: 8| F 2= B#<F(F0) -4 VP:| 20.00 : 0.00 | Total VP: 135.96 Rank:
EW: M=% ST 22I(BE0) 40 EW: BEABIE Bk = (BAC) 1 IMP:| 55 10 1
I — o
#9 aT3 2SS-2 100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 3SE4 170 Mean: 4SE-2 200 8.0 1
v QT542 2882 -110 20 4CW-2 200 50 2 v 983 2HS2 110 -120  3NE-2 200 80 1
732 Dif: 210 NS:3  3NXE-1 200 50 1 + 78643 Dif: 280 NS:6 4SE-1 100 60 1
» 632 IMP: 5 EW:3 2SS2 110 3.0 1 » KQ5 IMP: 7 EW:2 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 3SXW-2 -300 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CW6 920 Mean: 6CE-1 50 110 2
v Q62 6CS-2100 140  3NN5 460 80 1 v 85 4NW6 490 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -400 NS:-6 3NS4 430 7.0 1 + QT8 Dif: 430 NS:0 4NW5 460 1.0 1
& K5 IMP: -9 EW:-4 3NN4 430 7.0 1 & A96 IMP: 10 EW:9 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5DXN-2 300 Mean: 5HXW-2 300 40 4
v Q2 5HW5 650 -530 3HW3 140 9.0 1 v?9 4HE-1-50 140  5HXE-2 300 4.0 4
¢ T987 Dif: 20 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 350 NS:-3 4HE-1 50 3.0 4
» AJ6 IMP: -1 EW:3 5DE5 600 -20 1 » T632 IMP: 8 EW:10 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢V AN 4 AKJE3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5SXW5 650 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 5DXW5 750 Mean: 5CXS5 550 9.0 1
v KJT876 3SW5200 -530 3SW5 200 80 1 v 62 4SN5 -450 150  4SS4 420 7.0 1
¢ T32 Dif: 450 NS:8 3SW6 230 70 1 *2 Dif: 1200 NS:7 4SN5 450 7.0 1
& 7654 IMP: 10 EW:3 4SW6 480 2.0 3 & KT832 IMP: 15 EW:14 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 2 NS: f3{FE #HFEEEAC) -10 2 NS: Z=§E58 ST A(FH0) 8 VP:| 4.77 15.23 | Total VP: 80.24 Rank:
EW: ZEREJR BE/KBEO) -8 EW: Ep & 5 E&(BAC) 10 IMP:| 17 32 1
I — — o
#9 aT3 3NE-3 -300 Mean: 3NE-3 300 7.0 1 [[#10 s T6 2SE4 170 Mean: 4SE-2 200 8.0 1
v QT542 4CW-2-200 20  4CW-2 200 50 2 v 983 3SE3 140 -120 3NE-2 200 8.0 1
732 Dif: -100 NS:5 3NXE-1 200 50 1 ¢ T8643 Dif: 30 NS:-1 4SE-1 100 60 1
» 632 IMP: -3 EW:-7 2SS2 110 3.0 1 » KQ5 IMP: 1 EW:2 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 3NN5 -460 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE6 920 Mean: 6CE-1 50 110 2
v Q62 5CS-150 140  3NN5 460 80 1 v 85 3NW5 460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -510 NS:-5 3NS4 430 70 1 + QT8 Dif: 460 NS:1 4NW5 460 1.0 1
& K5 IMP: -11 EW:-8 3NN4 430 7.0 1 & A96 IMP: 10 EW:9 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 5DE5 600 Mean: 6NE-2 200 120 1 ||# 14 s QT2 4HE-1 -50 Mean: 5HXW-2 300 40 4
v Q2 3NE4 630 -530 3HW3 140 9.0 1 v?9 5HXE-2 -300 140  5HXE-2 300 4.0 4
¢ T987 Dif: -30 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 250 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: -1 EW:2 5DE5 600 -20 1 » T632 IMP: 6 EW:3 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 ¢ 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SW6 480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 -420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW6 750 -530 3SW5 200 80 1 v 62 5CN-150 150  4SS4 420 7.0 1
¢ T32 Dif: -270 NS:-6 3SW6 230 70 1 *2 Dif: -470 NS:-5 4SN5 450 7.0 1
& 7654 IMP: -7 EW:-2 4SW6 480 2.0 3 & KT832 IMP: -10 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 3 NS: 22T EHEZEAC) -3 3 NS: KB AL RZL(F0) 22 VP:| 3.54 16.46 | Total VP: 130.72 Rank:
EW: HtaEHE =S5 EH0) 22 EW: M E#E sRIEE(BAC) 3 IMP:| 13 33 2
I —
#9 aT3 4CW-2 -200 Mean: 3NE-3 300 7.0 1 [[#10 s T6 2HS2 -110 Mean: 4SE-2 200 8.0 1
v QT542 3NE4 630 20  4CW-2 200 50 2 v 983 3NE-2-200 -120 3NE-2 200 8.0 1
732 Dif: -830 NS:-12 3NXE-1 200 50 1 ¢ T8643 Dif: 90 NS:8 4SE-1 100 60 1
» 632 IMP: -13 EW:-5 2SS2 110 3.0 1 » KQ5 IMP: 3 EW:-6 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS5 -400 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 3NW5 460 Mean: 6CE-1 50 110 2
v Q62 3NN-150 140  3NN5 460 80 1 v 85 4NWS5 460 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -450 NS:-5 3NS4 430 70 1 + QT8 Dif: 0 NS:1 4NW5 460 1.0 1
& K5 IMP: -10 EW:-6 3NN4 430 7.0 1 & A96 IMP: 0 EW:-1 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 100 60 1[N ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXW-2 -300 Mean: 5HXW-2 300 40 4
v Q2 3NE4 630 -530 3HW3 140 9.0 1 v?9 5HXW-2 -300 140  5HXE-2 300 4.0 4
¢ T987 Dif: 0 NS:-3 1DN-5 500 1.0 1 ¢ JT953 Dif: 0 NS:4 4HE-1 50 3.0 4
» AJ6 IMP: 0 EW:3 5DE5 600 -20 1 » T632 IMP: 0 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5HN-2 200 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN-150 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 650 -530 3SW5 200 80 1 v 62 4SS4 -420 150  4SS4 420 7.0 1
¢ T32 Dif: -450 NS:-3 3SW6 230 70 1 *2 Dif: 470 NS:7 4SN5 450 7.0 1
& 7654 IMP: -10 EW:-8 4SW6 480 2.0 3 & KT832 IMP: 10 EW:5 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




[12EEF 2 FFERELR 2 —=> RY

#1: 11 B> 52(135.96) #2: 13 B H (130.72) #3: 10 FF52(109.45)

1 4 NS: B THRE BEEZEC) 26 5 NS: 21212 FE2R(F0) 24| VP:| 0.00 20.00 | Total VP: 82.38 Rank:
EW: BEE% FpEgLEI0) 24 EW: [REHE =imt(BAC) 2 IMP:| 0 ;46 8
I — o
#9 aT3 3CW-1-100 Mean: 3NE-3 300 7.0 1 [[#10 s T6 4SE-1 -100 Mean: 4SE-2 200 8.0 1
v QT542 2SS-2100 20 4CW-2 200 50 2 v 983 4SE4 620 -120  3NE-2 200 80 1
732 Dif: 200 NS:-3  3NXE-1 200 50 1 ¢ T8643 Dif: -720 NS:-11 4SE-1 100 60 1
» 632 IMP: -5 EW:-2 2SS2 110 3.0 1 » KQ5 IMP: -12 EW:-6 2HS2 110 6.0 2
s 84 & K95 3NE-1 100 20 1 ||a K72 » QJ854 2HN2 110 60 1
v J9 v K763 3CW-1 100 20 2 ||v A2 _I_ v 74 3HS-1 4100 1.0 1
+ AK84 — * T96 25S-1 50 20 2 ||e AQ72 * J9 3SE3 140 1.0 2
& AK954 » Q87 28S-2 100 -3.0 3 ||a 9763 » AJT2 3SE4 470 20 1
% ¢ VAN 4 AQJ762 3NE4 630 -12.0 1 *oVAN 4 A3 2SE4 470 20 1
N ~~~~~ v A8 N ~~2~~ » KQJT65 4SE4 620 -11.0 3
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
# 11 » KJ5 5CS-150 Mean: 5CXS5 550 9.0 1 ||# 12 o JT642 6CE-1-50 Mean: 6CE-1 50 110 2
v Q62 6HXS-1100 140  3NN5 460 80 1 v 85 3NE6 490 -500 5CE6 420 2.0 1
¢ QJ742 Dif: -50 NS:-6 3NS4 430 70 1 + QT8 Dif: -540 NS:0 4NW5 460 1.0 1
& K5 IMP: -2 EW:5 3NN4 430 7.0 1 & A96 IMP: -11 EW:-11 3NW5 460 1.0 3
» AQT86 » 9742 5CS5 400 60 2 ||a53 ~ AKQ97 4ANW6 490 0.0 1
v T7 E v 9543 3SXW-2 300 40 1 ||e AJ7 | v Q9 3NW6 490 0.0 1
¢ T853 + A96 5CS-1 50 50 3 [|e A972 * K4 3NE6 490 0.0 1
& 76 s A3 3NN-1 50 50 1 [|a Q432 a KJT8 4SXE5 690 -50 1
o OVAN »3 B6HXS-1 100 -6.0 1 o OoVABN 4,8 6CW6 920 9.0 1
N 424 ~4 vAKJ8 6CS-2 <100 60 1 |IN ~~~~~ v KT6432 6CE6 920 9.0 2
S 424~4 oK 6CXS-3 500 120 1 ||S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 6NE-2 200 120 1 ||# 14 s QT2 5HXE-2 -300 Mean: 5HXW-2 300 40 4
v Q2 1NXN-3 800 -530 3HW3 140 9.0 1 v?9 4HE-1-50 140  5HXE-2 300 4.0 4
¢ T987 Dif: -170 NS:-7 1DN-5 500 1.0 1 ¢ JT953 Dif: -250 NS:-3 4HE-1 50 3.0 4
» AJ6 IMP: -5 EW:3 5DE5 600 -20 1 » T632 IMP: -6 EW:-4 5DXN-2  -300 -10.0 2
& J962 \ & A87 3NE3 600 -20 1 ||s 654 s 97
v AJ963 v K4 5HW5 650 -3.0 1 v AK743 v QJT652
*5 + + AKQJ3 3NE4 630 -30 6 ||e Q2 * 74
& 983 » K75 3NE5 660 -4.0 1 & AQJ » K87
FOIVAN ,T4 INXN-3  -800 -7.0 1 % ¢V AN 4 AKJE3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SW6 480 Mean: 5HN-2 200 80 1 ||#16 » KQJ93 4SN4 -420 Mean: 5CXS5 550 9.0 1
v KJT876 5SXW5 650 -530 3SW5 200 80 1 v 62 4SN4 -420 150  4SS4 420 7.0 1
¢ T32 Dif: -170 NS:-3 3SW6 230 70 1 *2 Dif: 0 NS:7 4SN5 450 7.0 1
& 7654 IMP: -5 EW:-2 4SW6 480 2.0 3 & KT832 IMP: 0 EW:-7 4SN4 420 7.0 6
& JT76542 » AKQ3 5SXW5 650 -30 6 ||aT ~ 8654 5CN-1 50 50 1
v Q2 v 53 5SXW6 750 6.0 1 ||e AT74 — v QJ853 4SN-1 50 5.0 1
* AKJ7 * 864 4SXW6 790 -60 1 ||e KQJT4 ¢ 9753 6SS-2 100 -6.0 1
* » JT93 » QJ4 » 5HXW5 -850 -14.0 1
oo VABN 9 oo VAN 4 AT2 5DXW5 -750 -14.0 1
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




